x5 WMRASILMEHBREREAR (HAL: 7,/ mo)

B4 4 A 5 A 6 A 7 A

X =1.4 ~3.4 ~54 ~10.4 ~20.420.5= && =3.4 =104/ =1.4 ~3.4 ~54 ~10.4 ~20.420.5= && =3.4 =104/ =1.4 ~3.4 ~54 ~10.4 ~20.420.5= &&# =3.4 =10.4| =1.4 ~3.4 ~54 ~10.4 ~20.420.5= && =3.4 =104
% % % % % % % % %N % % % % % % % % % % % % % % % % % % % % % % % % % % %

A B |100.0 100.0 100.0 100.0 | 95.5 4.5 100.0 100.0 100.0 | 98.0 2.0 100.0 100.0 100.0 | 96.7 3.3 100.0 100.0 100.0
Z & [100.0 1000 100.0 100.0 [ 95.9 2.1 1.9 1000 98.1 100.0 [ 94.0 3.9 2.0 1000 98.0 98.0 [ 93.2 1.9 49 1000 95.1 100.0
L 98.8 1.2 100.0 100.0 100.0 | 98.4 1.6 100.0 100.0 100.0 | 98.3  L.7 100.0 100.0 100.0 | 96.2 2.8 0.4 0.7 1000 98.9 100.0
# & [100.0 1000 100.0 100.0 [ 98.8 1.2 100.0 100.0 100.0 (100.0 100.0 100.0 100.0 {100.0 100.0 100.0 100.0
=W 97.1 2.9 100.0 100.0 100.0 | 94.2 5.4 0.4 1000 99.6 100.0 |100.0 0.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
E B 99.5 0.5 1000 100.0 100.0 [ 97.7 2.3 0.0 0.0 100.0 100.0 100.0 [ 98.0 2.0 0.0 1000 100.0 100.0 [ 98.9 1.1 100.0 100.0 100.0
BB #& [100.0 100.0 100.0 100.0 | 95.6 3.0 1.5 1000 98.5 100.0 | 96.8 3.2 100.0 100.0 100.0 | 99.5 0.5 100.0 100.0 100.0
B & |100.0 1000 100.0 100.0 [ 94.7 4.3 1.0 1000  99.0 100.0 (100.0 100.0 100.0 100.0 {100.0 100.0 100.0 100.0
+ B 98.4 1.5 0.1 1000 99.9 100.0| 98.0 1.5 0.3 0.2 1000 99.5 100.0 98.0 1.6 0.1 0.1 0.2 1000 99.6 99.8| 97.5 2.3 0.1 1000 99.9 100.0
8l 3% 97.4 1.9 0.1 0.1 0.3 100.0 99.4 99.7 | 97.6 1.9 0.3 0.1 0.0 0.1 1000 99.5 99.9| 98.9 1.0 0.0 0.1 100.0 99.9 99.9 | 98.5 1.1 0.3 1000 99.7 100.0
B E 98.5 1.4 0.1 100.0  99.9 100.0 | 98.1 16 02 01 0.1 1000 99.7 9991977 1.7 0.1 04 0.1 1000 994 999|975 1.8 03 04 0.1 1000 99.3  99.9
H E 97.2 2.6 0.1 100.0 99.9 99.9| 96.3 3.3 0.4 0.0 1000 99.6 100.0 [ 97.5 1.8 0.5 0.2 100.0 99.3 99.8 | 98.2 1.6 0.1 0.1 0.1 1000 99.8 99.9
=B 98.7 1.3 100.0 100.0 100.0 | 99.2 0.8 100.0 100.0 100.0 | 99.5 0.2 0.3 1000 99.7 100.0 | 99.5 0.2 0.2 1000 99.8 100.0
B B |100.0 100.0 100.0 100.0 | 94.1 3.8 1.4 0.7 1000 97.9 100.0 [ 98.8 1.2 100.0 100.0 100.0 | 95.8 4.2 100.0 100.0 100.0
T 98.3 1.6 01 00 00 00 1000 998 99.9]| 976 20 02 02 00 00 1000 996 1000 | 98.1 15 02 01 0.1 100.0 996 999 | 97.9 18 02 01 0.0 1000 99.6 1000
201947 98.5 1.2 0.2 0.1 0.0 100.0 99.7 100.0 | 98.2 1.5 0.0 02 0.0 1000 99.7 100.0 [ 98.1 1.5 0.1 0.1 0.1 0.0 100.0 99.7 99.9| 97.9 1.7 0.2 0.2 0.0 0.0 1000 99.5 100.0
2018FET-] 99.0 0.8 0.1 0.1 100.0 99.8 100.0] 98.7 1.0 0.l 0.1 0.0 1000 99.8 100.0 ] 98.5 1.L 0.l 0.2 0.0 0.0 1000 99.6 99.9| 976 19 0.2 0.3 100.0  99.5 100.0

R4 8A 9 A 10 A 11 A

HX =14 ~34 ~54 ~104 ~204 205= ®HEF =34 =104| =14 ~34 ~54 ~104 ~204 205= &HFt =34 =104 =14 ~34 ~54 ~104 ~204 205= @HiH =34 =104| =14 ~34 ~54 ~104 ~204 205= HF =34 =104
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %

a FF 96.4 3.6 100.0 100.0 100.0 | 96.3 2.1 1.6 1000 98.4 100.0 | 98.4 1.6 100.0 100.0 100.0 | 97.7 2.3 100.0 100.0 100.0
zZ 96.6 3.4 100.0 100.0 100.0 | 96.6 1.7 1.7 1000 96.6 100.0 [ 96.3 3.7 100.0 100.0 100.0 | 96.4 1.9 1.7 1000 98.3 100.0
L 96.2 3.0 04 04 100.0 99.2 100.0 | 97.6 2.4 100.0 100.0 100.0 | 98.9 0.8 0.3 100.0 99.7 100.0 | 97.6 2.4 100.0 100.0 100.0
# & [100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 (100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
=W 99.9 0.1 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 | 97.6 2.4 100.0 100.0 100.0 | 99.9 0.1 100.0 100.0 100.0
E B 971.7 1.1 1.2 100.0 98.8 100.0 |100.0 100.0 100.0 100.0 [ 98.8 1.2 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
BB & 925 1.5 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
B & |100.0 100.0 100.0 100.0 | 95.5 0.6 1.3 2.5 1000 96.2 100.0 (100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0
+ B 98.1 18 0.1 0.0 1000 99.9 100.0 | 97.8 1.8 0.3 0.0 1000 99.6 100.0 | 99.2 0.7 0.1 0.0 1000 99.8 100.0 | 99.1 0.8 0.0 0.1 0.1 1000 99.8 99.9
fil 3% 98.6 0.9 0.3 0.3 0.0 100.0 99.4 100.0 | 97.8 2.1 0.1 0.0 1000 99.9 100.0 [ 98.0 1.8 0.1 0.1 100.0 99.8 100.0 | 98.7 1.1 0.1 1000 99.9 99.9
B E 97.7 22 01 0.1 1000 99.9 100.0| 97.3 2.0 0.5 0.3 1000 99.3 100.0 979 1.7 0.1 0.3 0.1 1000 99.6 99.9| 988 1.0 0.1 0.0 1000 99.9 100.0
H E 96.8 2.5 0.5 0.2 100.0 99.3 100.0 | 96.5 2.7 0.5 0.3 1000 99.2 100.0 [ 98.1 1.5 0.2 0.2 100.0 99.6 100.0 | 98.0 1.8 0.2 1000 99.8 100.0
R B 96.9 25 03 03 1000 99.5 100.0 | 98.7 0.8 0.3 0.2 1000 99.5 100.0 | 98.9 1.1 100.0 100.0 100.0 | 98.7 1.0 0.3 1000 99.7 100.0
B W 96.5 2.8 0.6 0.0 100.0 99.4 100.0 | 97.1 2.9 100.0 100.0 100.0 [ 97.0 3.0 100.0 100.0 100.0 | 96.8 3.2 100.0 100.0 100.0
T 977 20 02 01 0.0 100.0 99.7 1000 | 97.6 19 03 02 00 1000 995 1000 | 985 13 01 0.1 0.0 100.0 99.8 1000 | 987 1200 01 00 1000 99.8 100.0
20194 | 97.5 2.1 0.2 0.2 0.0 100.0 99.5 100.0 | 97.8 1.7 0.3 0.2 1000 99.5 100.0 [ 98.3 1.3 0.2 0.2 0.0 100.0 99.6 100.0 | 98.8 1.0 0.1 0.1 0.0 1000 99.7 100.0
2018FET-]) 98.0 1.6 0.2 0.2 0.0 0.0 1000 99.5 100.0| 98.0 1.5 0.2 0.2 0.1 1000 99.5 99.9]98.6 1. 0.1 0.1 0.1 1000 99.7 99.9] 98.7 1.L 0.1 0.1 0.0 100.0  99.8 100.0




(A2 7/ me)

X5 12 R 1A 2 R 3 A
X <14 ~34 ~54 ~104 ~204 2055 @i =34 =104| <14 ~34 ~54 ~104 ~204 2055 @F =34 =104| <14 ~34 ~54 ~104 ~204 2055 AF =34 =104| <14 ~34 ~54 ~104 ~204 2055 AF =34 =104
% % % % % % % % % % % % % % % % % % % % % % %
B | 985 15 100.0 100.0 100.0 [100.0 1000 100.0 100.0 | 98.4 1.6 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
= M [881 99 20 100.0 98.0 100.0 | 89.7 10.3 1000 100.0 100.0 [ 95.5 2.3 2.3 100.0 97.7 100.0 | 95.4 4.6 100.0 100.0 100.0
£ [988 1.2 100.0 100.0 100.0 [ 99.1 0.9 1000 100.0 100.0 [ 98.1 1.6 0.3 100.0 99.7 100.0 [ 97.4 2.6 0.0 0.0 100.0 100.0 100.0
% E [99 o1 100.0 100.0 100.0 [ 99.9 0.1 100.0 100.0 100.0 | 96.9 3.1 100.0 100.0 100.0 | 95.7 2.1 22 1000 95.7 100.0
#%/ W [99.8 0.1 0.1 100.0  99.9 100.0 [100.0 100.0 100.0 100.0 |100.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
E B 918 22 100.0 100.0 100.0 [100.0 1000 100.0 100.0 | 96.0 4.0 100.0 100.0 100.0 [100.0 100.0 100.0 100.0
Bk [984 16 100.0 100.0 100.0 [ 96.5 3.5 100.0 100.0 100.0 | 96.9 3.1 100.0 100.0 100.0 [ 95.1 3.2 1.6 0.0 1000 98.4 100.0
B & |95 15 100.0 100.0 100.0 | 98.4 1.6 1000 100.0 100.0 | 98.4 1.6 100.0 100.0 100.0 | 98.5 1.5 100.0 100.0 100.0
+ B [984 13 02 0.0 100.0 99.7 100.0 [ 98.0 1.7 0.4 1000 99.6 100.0 [ 96.9 2.8 0.2 0.1 1000 99.7 100.0 [ 97.2 2.1 03 02 0.2 1000 99.3 99.8
# B |99 21 100.0 100.0 100.0 [ 98.1 1.5 0.3 0.2 1000 99.5 100.0 [ 98.4 1.4 0.2 100.0 99.8 100.0 [ 97.0 2.2 03 0.5 1000  99.3 100.0
B E [986 1.2 01 0.1 100.0 99.8 100.0 [ 98.3 1.3 0.1 02 0.1 1000 99.6 999|979 1.7 01 02 0.1 1000 99.6 99.9 [ 98.7 1.0 02 0.1 1000  99.7 100.0
@ E [983 1.2 03 01 0.1 1000 99.4 999|975 20 03 0.1 1000 99.5 100.0 [ 97.3 2.3 0.1 0.3 1000 99.6 100.0 [ 97.3 1.9 0.2 06 1000  99.2 100.0
R A [986 L1 03 100.0 99.7 100.0 [ 98.4 1.0 0.5 1000 99.5 100.0 | 99.3 0.5 0.2 100.0 99.8 100.0 [ 99.5 0.5 100.0 100.0 100.0
2B |98 25 0.7 100.0 99.3 100.0 [ 954 3.8 0.8 1000 99.2 100.0 [ 97.6 1.6 0.8 100.0 99.2 100.0 | 96.2 3.8 100.0 100.0 100.0
Eo 5] 983 14 02 01 00 100.0 997 1000 980 16 03 01 00 1000 996 1000 | 976 20 02 01 00 100.0 997 1000 977 18 02 03 01 1000 995 999
2019 ] 98.6 1.3 0.1 0.1 0.0 1000 99.9 100.0 [ 985 1.3 0.1 0.1 0.0 0.0 1000 99.8 999 98.0 1.6 02 01 0.1 1000 99.6 999984 1.3 0.1 01 0.0 0.0 1000 99.7 100.0
2018FETH[ 987 1.0 02 0.0 0.0 100.0 99.7 100.0 [ 98.2 1.5 0.1 01 0.0 0.0 1000 99.7 999|986 1.2 0.1 00 0.0 100.0 99.8 100.0 [ 988 1.0 0.1 0.1 1000  99.8 100.0
X5 F #9(4R~3A8) Z ZEAIEEERERURIL)
#hX <14 ~34 ~54 ~104 ~204 205= &F =34 =104 =14 =34
% % %
A B |90 19 0.1 100.0  99.9 100.0 98.3 (-0.3) 99.7 (0.2)
= & (949 36 1.1 03 02 1000 98.5 99.8 96.6 -1.7) 99.7 (-1.2)
£ 97.9 1.9 0.1 0.1 0.0 1000 99.8 100.0 97.9 (0.0) 99.8 (0.0)
#® X 99.2 04 02 0.2 1000 99.6 100.0 99.1 (0.1) 100.0 (-0.4)
#%/ W [9.0 1.0 00 0.0 100.0 100.0 100.0 97.8 (1.2) 99.8 (0.2)
E B 98.7 1.2 0.1 0.0 1000 99.9 100.0 98.8 (-0.1) 99.4 (0.5)
B #& [976 22 03 0.0 100.0  99.7 100.0 99.3 (-1.7) 99.8 (-0.1)
B & 98.7 09 02 0.2 1000 99.6 100.0 98.7 (0.0) 99.5 (0.1)
+ B [981 16 02 01 00 0.0 1000 99.7 100.0 98.5 (-0.4) 99.8 (-0.1)
# B [981 16 02 01 00 0.0 1000 99.7 99.9 97.6 (0.5) 99.6 (0.1)
®E [91 16 02 02 00 100.0  99.6 100.0 98.2 (-0.1) 99.6 (0.0)
MW E [974 21 02 02 00 0.0 1000 99.5 100.0 97.6 (-0.2) 99.4 (0.1)
R A [988 09 02 0.1 100.0  99.8 100.0 99.2 (-0.4) 99.9 (-0.1)
BB |98 27 04 0.1 100.0  99.6 100.0 98.2 (-1.4) 99.8 (<0.2)
Bo 5] 980 17 02 01 00 00 1000 99.7 100.0 98.2 (-0.2) 99.7 (0.0)
2019 ] 98,2 1.5 0.2 0.1 0.0 0.0 1000 99.7 100.0
2018FETH[ 984 1.2 01 0.1 0.0 0.0 1000 99.7 100.0




	表5

